
1) Decrease 50 by 42%

Answer: ____________

2) 100 x 25

Answer: ____________

3) 41% of 26

Answer: ____________

4) 9 - 6

Answer: ____________

5) 8 + (-95)

Answer: ____________

6) Simplify 2:19

Answer: ____________

7) 7 x 10

Answer: ____________

8) 11.8 - 65.4

Answer: ____________

9) Round 3.394423 to 2 significant 
figures.

Answer: ____________

10) Round 0.86886 to 4 significant 
figures.

Answer: ____________

11) 20/3 + 5/7

Answer: ____________

12)
64

10 /12

Answer: ____________

13) What would you multiply by to 
increase an amount by 71%?

Answer: ____________

14) Find area of 
rectangle having 
sides a = 95 in 
and b = 82 in

Answer: ____________

15) 97% of 26

Answer: ____________
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16) Find the mean of the following set of data:

20, 20, 11, 10, 1

Answer: ____________

17) Solve by factorising 
f2 - 5f - 6 = 0

Answer: ____________

18) Convert the following improper 
fraction 21/2 + 23/4 into a mixed 
number

Answer: ____________

19) 6.8 x 18.2

Answer: ____________

20) 27% of 60

Answer: ____________

Total: ___ / 20
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Answers:

1) 29 2) 2500 3) 10.66 4) 3 5) -87 6) 2 : 19 7) 70

8) -53.6 9) 3.4 10) 0.8689 11) 78/21 12) 32 13) 1.71 14) 7790in

15) 25.22 16) 12.4 17) f = 6 or -1 18) 51/4 19) 123.76 20) 16.2
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